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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231259
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9662316621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sorme letters are numbered as 1, 2, 3, 4, & and &. In the options, four possible arrangerments of these nurmbers
are given. Choose the option 50 that the letters form a meaning ful word.

S EDBIR
1 2 3 4 5 6
Options:

1. % 421365

2. ¥ 324651

3. % 436572

4 % B51432

Question Number : 1 Question Id : 9662316621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FT AR WL, 2, 3, 4, 5 o 6 FATF Ty M0 81 fdwedl §, 59 Feaml &1 o S9idd caaen] o T 8] 39 e’ 31 o &
iR ST Uw grfer deg =9 9o

S EDBI R
1 2 3 4 5 ).
Options:

1. % 421365

2. ¥ 224651

I % 43EETZ

4 % 51432

Question Number : 2 Question Id : 9662316622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. % ROU
=z % GDJ
3. ¥ MP]
4. % PMS

Question Number : 2 Question Id : 9662316622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25

%qrr%ﬁfﬁﬁﬁﬁ A1 e ST Ji | A 5 BT, U dwed S0 d 1 1 d9g el ol 96 e &1 oo ot ol st o
STET

Options:

1. % ROU
= % GDJ
3. ¥ MP]
4. % PMS

Question Number : 3 Question Id : 9662316623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manmner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. # Shirt
2. % Coat

3. % Sweater

4 % Trouser

Question Number : 3 Question Id : 9662316623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

%qn%ﬁm—nﬁﬁﬁ A1 wer TS T | T 21 §TATE, U Heed S & 4 61 a¥g A51 51 39 e &7 == &4 =1 9l |
ST

Options:
1. ® g
o % 3T
3 % T
4. ¥ yaeH

Question Number : 4 Question Id : 9662316624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first

term.

NPE : Q51T FHJ : ?
Options:

1. % ILN

2. ® HIG

3. % JNHL

4 ¥ [KM

Question Number : 4 Question Id : 9662316624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
39 el T i B ST S 19 Ug & I HeR T | Wl e WE | uge U g U § Helldd gl

WFE . Q50 FHJ: 7
Options:
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1. % ILN
o % HIG
3 % JNL
4. ¥ KM

Question Number : 5 Question Id : 9662316625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If highway is sky, sky is river, river is cloud and cloud is land, then where do birds fly?

Options:

1. % highway
2. ¥ river

% % ghy

4. % cloud

Question Number : 5 Question Id : 9662316625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e TATT STRT &, ST Gl 5, Aol a5 & K aad i &, 91 Taf 51 324 a7
Options:

1. % Trammt

2 & Tar

S % aeTar
4 % gEA

Question Number : 6 Question Id : 9662316626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
If 23412 is coded as 46824, then what will 20241 be coded as?

Options:

1. % 29130
2 % 90823
3. % 41350
4. ¥ 50482

Question Number : 6 Question Id : 9662316626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IiE 23412 T 46824 & w7 § T2 oy @1 5, 91 30241 1 e SiiET e smom?

Options:
1. % 29130

= ® 90823
I ® 41352
4 ¥ E0482

Question Number : 7 Question Id : 9662316627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % fzam

2 % faw

z ¥
4. % T

Question Number : 7 Question Id : 9662316627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Uday, Disha, Ishika, Manisha, Priva and Harsh are sitting around a round table facing the centre. Uday is

opposite Disha, who is to the right of Manisha, Uday is between Priva and Harsh, Harsh is not next to Manisha.
Wwho is to the right of [shika?

Options:

1. ¥ Disha

= % Priva

3. ¥ Harsh

4. % Manisha

Question Number : 8 Question Id : 9662316628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Eead the given statement and conclusions carefully. Assurming that the information in the statement is true,
everl if they appear to be in variance with commenly known facts, select which of the conclusions logically
followr(s) from the statement beyond reasonable doubt.

Staternents:
I. S0mme mangoes are apples.
II. All apples are bananas.

Conclusions:

[. All bananas are apples.

II. All riangoes are bananas.

Options:

1. # Cnly Conclusion [ follows.

2 % Only Conclusion 11 follows.

3. ¥ MNeither of the conclusion follows.

4. % Both conclusion I and II follows.

Question Number : 8 Question Id : 9662316628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToT T T A TAme] @ A | U O AT 50 O e H ST TR A@ T 9o &, Wl 5 o AT F1F FE o 9T Eew
e g T a5, 39 e @7 T @ St Ty o U 39 T BT A1 €7 6 ST 3]
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TeepT-
1. &t e 3
I1. &t a7H et 3
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Options:

1. % el Tmepd 1 21 e &eaT gl

2. % et T 11 STgEr FaT gl

3. ¥ pIE T Fwrd argER A5 T al
4 % T [ & 11 ST e @ 8l

Question Number : 9 Question Id : 9662316629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

1.9 244
2 % 216
3 % 312
4 ® 276

Question Number : 9 Question Id : 9662316629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

mﬂ%ﬁwﬁﬁﬁ A1 Ter TS FOi & T 5 §TATE, U ded S & 4 61 a¥g Al 51 39 e o7 == & S Gl &/
ATETT

Options:

1.9 244
o %216
3 % 312

4 ® 276

Question Number : 10 Question Id : 9662316630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third munber on the same basis as the second number is related to the
first number.

126147 1257
Options:

1. % 172

2 % 156

3 % 132

4 ¥ 161

Question Number : 10 Question Id : 9662316630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I ey T = ST ST AT § I W el A e W R €T Uge | ST  He g g

126147 . 12387
Options:

1. % 172

2 % 156
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3. % 132
4. 9 161

Question Number : 11 Question Id : 9662316631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two signs shiould be intercharnged o malke the below equaticon mathernatically correct?

45 x4+5+3 -2 =25
Options:

1. % %, +

2 % 4+, -

38+, =

4 ¥y =

Question Number : 11 Question Id : 9662316631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Tary T e & i € # Gyl @ o T TR 31 kel 1 ey S g AT ey

48 x44+5+3-2=25
Options:

1. % w +

2% 4, -

3% 4+, <

4 9w, =

Question Number : 12 Question Id : 9662316632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which two numbers should be interchanged to rmake the below equation mathernatically correct?

le +4=x5+3-2=15
Options:

1. 5,2

2. %5 3

3. %4 2

4 % 4 3

Question Number : 12 Question Id : 9662316632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATl e T HE TR @ R w0 F " T o T e g Seanat ®t e i e S aneye
16 +4=x5+3-2=15%

Options:

1. %#5,2

= W5 3

3. %4 2

4. % 4 3
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Question Number : 13 Question Id : 9662316633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmissing number in the fDllDW‘iﬂg TIUITIRer Series.

526, 6.84,
Options:
1. ®$ 512
Z ¥ 542
3. %5
4 % 518

——————

Question Number : 13 Question Id : 9662316633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Tear it # Taa G a1 @1

826, 684, _____ .4, 258
Options:

1. % 512

2 ¥ 542

3 %5

4 % 518

Question Number : 14 Question Id : 9662316634 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
If & means +, B means -, Cmeans < and D means +, then 54 DEeC 4B 12 8 57

Options:
1. % 64
Z % 48
3. % 31
4 ¥ 23

Question Number : 14 Question Id : 9662316634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

g s wTaf+ EaTanf - Carapf w s D FTapf - § @154 D6 C 4E 12 A 5 FF &
Options:

1. % 54

2. % 48
3. % 31
4. ¥ 29

Question Number : 15 Question Id : 9662316635 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

which of the following Venn diagrams best represents the relationship between apples, mangoes and
vegetables?
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A,

Options:

1.9

II/’)
Il\-\_
‘\

—

4 ®

Question Number : 15 Question Id : 9662316635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T o & @ A1 o A ', T ST Al & s Gee B Jed SRET gaidT 57

Options:

1.9
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Question Number : 16 Question Id : 9662316636 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two men Pritam and Akash start from the same point. Pritam walks 8 km north, then turns west and walks &
lary, then turns to his right and wallks 4 kan. Alkash walks 4 ko west, then turns north and walks 12 lan, then
turns to his right and walks 9 km Where is Akash standing now with respect to the current position of Pritam?

Options:

1. % 11 krn west
Z % 15 laneast
3. ¥ 11 kamn east

4 % 15 Lk west

Question Number : 16 Question Id : 9662316636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

@ﬁﬁaﬂeﬁtmﬂw@ﬁgﬁm&ﬁm%ﬁmammfﬁaﬂrm%ﬁﬁmfﬁﬁwﬁaﬂvemm
%, Tt ST 218 oI X godT & & 4 kvl IFaT g1 ST 4 krn ORed | aed] &, O 3o @1 o7 g2aT & ot 12 kan o7 &, e
1T ST STC HEaT ¥ ST 9 lan T 81 ST, Eﬁﬂﬂ%ﬂﬂ“ﬂﬁﬁ@ﬁﬁﬁ:ﬁgﬁ?ﬁ?ﬂﬁmﬁ%ﬁ

Options:
1. % 11 kmn oisam

2 % 15 km
3 v 11 kmud
4 ® 15 krn ufem

Question Number : 17 Question Id : 9662316637 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which of the following cubes in the answer figure CANMNOT be made based on the unfolded cube in the
question figure?

—+[O] -]
Options: N
/O
.‘iﬁ? .

.

1" 1 | 4
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7L
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4 # O

Question Number : 17 Question Id : 9662316637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IO AT H T O W SF IS H 0 T o ST U 5| el A1 Gl g7

0
wle

O] »

x|+

Options:

Y
7L

> o ’
7L
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Question Number : 18 Question Id : 9662316638 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cut of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:
WH S
1 © K
1w |IN_Z Q
H Q K
SQN
2_%?.EII."I.'
S HZ
K W
- % |[NOQ
I WS
N QH
4 % O Z K

Question Number : 18 Question Id : 9662316638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

mﬂ%ﬁwﬁﬁﬁaﬁ?wﬁﬁaﬁaﬁ%ﬁwﬁ TTAT, T Twen o 319 & 99 51 o1 29 [dwet &1 o= & FT 3T &
SIATT

Options:
WH S
1 O K
I.WNZD
H Q K
SAaQN
21&;2'\”
S HZ
K Wi
3 % N O Q
| WS
N QH
4 R 0O Z K
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A,

Question Number : 19 Question Id : 9662316639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich answer figure will complete the pattern in the question figure?

Options:
1

Question Number : 19 Question Id : 9662316639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I T IO AFIT 04T ST e H G 1 T wre

Options:
—l
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A,

e

Question Number : 20 Question Id : 9662316640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a mirror is placed on the line MM, then which of the answer figures will be the right mirror image of the
given figure?

NV

/=

Options:

Nl

Question Number : 20 Question Id : 9662316640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25

fe; T U 147G M U TET AT 5, 97 & 97 Ja% HTET ol T8 ST @7 T8 1 U Hid fee 57

NV

/3

Options:

SlsEE

Gereral Awarensss

Group Number : 2
Group Id: 966231125
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarerness

Section Id : 966231240
Section Number : 1
Section type: Online

Mandatory or Optional: Mandatory
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231260
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9662316641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwith which of the following states Kikkli dance is associated?

Options:

1. ® Tripura

2. % Uttar Pradesh
% # Jharkhand

4. ¢ Punjab

Question Number : 21 Question Id : 9662316641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeaT # & e T & |n el o 95T ger &7
Options:

1. %

2 % FEvudar

3 % ZmEE

4 T

Question Number : 22 Question Id : 9662316642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
with which of the following state is Jugni folk music related to?

Options:

1. ¥ Punjab

2. % Sikkim

3. % Assam

4. % West Bengal

Question Number : 22 Question Id : 9662316642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt wiv it iR & e e @ deT
Options:

1. ¢ 091

> % fafyw

3 % s
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Question Number : 23 Question Id : 9662316643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Yaoshang, which is celebrated during spring in the month of Phalguna, is associated with which of the
following states?

Options:

1. % Assam

2. % Harvana

Z. % Maharashtra

4, ¥ Manipur

Question Number : 23 Question Id : 9662316643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT, T BT & A § a6d & S 737 9147 &, Heietas § & o 7w & arr J21 27
Options:

1. % amm

2. % giegmom
3. % wEwny
4. ¥ wiR

Question Number : 24 Question Id : 9662316644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 mearnt by Bank rate?

Options:

1. ® Long term rate at which bank lends to REI
2. ¥ Long term rate at which REI lends to bank
Z. % Long term rate at which Govt. lends to bank

4 % Long termrate at which bank provides loans to custoners

Question Number : 24 Question Id : 9662316644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T | FT AT £7

Options:

1. % Sor e STater o U AT 1 Tete i A daT 8

o S arafy 1 g B W o 3, S e 3T
3. ® Zref arater o gy S 0T O o 1 A0 4 T gl

4. % I arafer T 2 T U S MR @ F0T Me T @ aT gl

Question Number : 25 Question Id : 9662316645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich among the following is an exarnple of indirect tax?

Options:
1. % Income tax


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

dtab

2. % Corporation tax
3. ¥ Sales tax
4 % Wealth tax

Question Number : 25 Question Id : 9662316645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraEET # & B SWedy 3 F UF 500 57

Options:

1. % oy

o % Ty
=, o o e
4. % egEw

Question Number : 26 Question Id : 9662316646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What i3 the relation between power (o), voltage (v) and resistance ()7

Options:

1. % o= yr?
o ¥ =t
3. ¥ p=vir
4 ¥ p=vwr

Question Number : 26 Question Id : 9662316646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT (), afee (v) o Widerer (r) o et o Heey 57

Options:

1. % p=wr?
2 % p =y’
3. ¥ p=vor
4 % p=wr

Question Number : 27 Question Id : 9662316647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following kingdom has Prokaryotic cell type?

Options:

1. % Monera
2. % Protisa
= ® Fungi
4. % Plantae

Question Number : 27 Question Id : 9662316647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeTET § & e frmew # ek wiideT weer g g7


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

W=

Options:

1. gi=e
o % g
Z % g
4, % taret

Question Number : 28 Question Id : 9662316648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In1 which ocean 15 the "Minety East Ridge” located?

Options:

1. # Atlantic Ocean
2. % Artic Ocean

=, ¥ Indian Ocean

4. % Pacific Ocean

Question Number : 28 Question Id : 9662316648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"TTEel se oo e mpEne | e 27
Options:

1. % sEATEE AgTETT

2 % JUTER UEETR

z. ¥ g I

4, ¥ [T AZETR

Question Number : 29 Question Id : 9662316649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following states is the Chandil Dam located?

Options:

1. ¥ Himachal Pradesh
2. ¥ Jharkhand

Z. % Rajasthan

4, % Assam

Question Number : 29 Question Id : 9662316649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

=T Ay ey # § e e | e g
Options:

1. % BUEe nga

2 ¥ FREE

2 ® e

4 % sy

Question Number : 30 Question Id : 9662316650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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In which of the following states is the Garo hills located?
Options:

1. % Tripura

2. ¥ Meghalava

3. ® Mizoram

4 # pssam

Question Number : 30 Question Id : 9662316650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafmET # & ey v # TR ngTieat e g
Options:

1. % T

2. o HETET

3 % fERE

4. % sy

Question Number : 31 Question Id : 9662316651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did the Chauri Chaura incident take place?

Options:

1. % 1925
2 % 1920
3. ¥ 1920
4, % 1930

Question Number : 31 Question Id : 9662316651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=T =TT ST TeT el FE 7

Options:
1. % 1925

= % 1920
o ¥ 1922
4 ® 1930

Question Number : 32 Question Id : 9662316652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which among the following was the centre of the Harappan civilisation?

Options:

1. ® Dholavira

2 % Lothal

= % sutkagen-Dor

4. ¥ Kalibangan-Mohenjo-Daro

Question Number : 32 Question Id : 9662316652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
AT T H & T a1 gevT Tv-adT & dhg 17

Options:
1. % efiFAmERT
2. % eI

3. % gowrd - 1
4. & FIATE - g - Alge!

Question Number : 33 Question Id : 9662316653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the battle of Buxar fought?

Options:

1. % 1735
o ® 1775
3 ¥ 1764
4, % 1785

Question Number : 33 Question Id : 9662316653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST T e el ST T 2T

Options:

1. % 1735
2 ® 1775
3 ¥ 1764
4 % 1785

Question Number : 34 Question Id : 9662316654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhere is the headquarter of International Monetary Fund (IMF) located?

Options:

1. ¥ London

2. ¢ Washington D.C.
3 % Ohio

4. ® Cregon

Question Number : 34 Question Id : 9662316654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FHTCTE I YT 1Y (HTETAE) T JEATed Fg1 160d 57
Options:

1. % Faq

2. ¥ gndes, =1 6

3. ® agr

4 % aifar
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Question Number : 35 Question Id : 9662316655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who wion the best actress award in the MNational Film &ward 20187

Options:

1. ¢ Sridevi

2. % Sonam Kapoor

3. % Alia Bhatt

4. % Deepika Padukone

Question Number : 35 Question Id : 9662316655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TOheH qEd e 2018 | HeloiE ST & [Rem i a7 27

Options:

1. et

2 ® G907 TR
3. % anfaareg

4. % it wrEE

Question Number : 36 Question Id : 9662316656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which amendment added Bodo in the list of recognised languages?

Options:
1. % 5o
2 % 51
3. ¥ ap
4 % 55

Question Number : 36 Question Id : 9662316656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Harterd SISt W AT 0T el & g § Fer

Options:
1. % 52
o % g1
3 ¥ a9z
4. % 86

Question Number : 37 Question Id : 9662316657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The existence of the concept of "Republic” in the Indian Constitution is borrowed from the constitution of

Options:
1. ¥ France
2. % Union of Soviet Socialist Republics

2. % Britain
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4 # [reland

Question Number : 37 Question Id : 9662316657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT 1 AreT # T TSI &7 affeaed _________ T Tl & ST 7T 8
Options:

1.

2. % HifEog aHEEET TE A # 9

3. ¥ fea

4, % s

Question Number : 38 Question Id : 9662316658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho was the first Chairman of the Fundamental Rights Sub-Commnittes of the Constituent Assembly?

Options:

1. % KM Munsi

2. % H.C. Mukherjee
= ¢ |E. Kripalani

4, % GV Mavalankar

Question Number : 38 Question Id : 9662316658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
eI T ST Ao ST S0-AiHi & Tgel STEae o 97

Options:

1. % ¥ om gt
o % g & gt
3 ¢ 3 & pueT

4. % 1t ATaeEe

Question Number : 39 Question Id : 9662316659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Davis Cup is associated with which of the following sports?

Options:

1. % Tennis
2 ® Cricket
Z. % Golf

4 # Football

Question Number : 39 Question Id : 9662316659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2w o el & & e 29 & a2 87

Options:
1. ¥ e

2. ® T
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Question Number : 40 Question Id : 9662316660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

which among the following tearns was the first one to win the Wormen's Criclket World Cup?

Options:

1. % Pakistan
2. % Australia
3. % India

4. ¥ England

Question Number : 40 Question Id : 9662316660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ForaTaTaT 7 & T A I AT e T T S e et S off

Options:

1. % grieq
2. % affedferr
3 % 9N

4 ¥ trAE

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit?:
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions;

Number of Questionsto be attempted:

Section Marks:
Display Number Panel:
Group All Questions:

Arithmetic Ability

3
966231126
0

0
No
No
0
20
Yes
0

0

Arithrnetic Ability

966231241
1

Online
Mandatory
20

20

20

Yes

No

GET IT ON
Google Play
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Sub-Section Number: 1
Sub-Section 1d: 966231261
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9662316661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the least number by which 18000 must be divided so as to make it a pEI‘fECt square?

Options:
1. %2
2 %3
3.¥ 5
4 % g

Question Number : 41 Question Id : 9662316661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TE e Fle T ST AT FE R g7 18000 ® i e s gt avie g8 o ot et e | a9

Options:
1. %2
=z %3
3.5
4. % g

Question Number : 42 Question Id : 9662316662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the greatest number of 4 digits which is divisible by 20, 50, 60 and 207

Options:

1. % 3000
2. % 9240
3. % 9430
4 ¥ 9800

Question Number : 42 Question Id : 9662316662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

4 2t o 9% Hed FET §ET B A 5, A 20, 50, 60 Y 80 # ST 37
Options:

1. % 9000

Z. % 9240

3. # 9480

4. % 9600

Question Number : 43 Question Id : 9662316663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ifxjy = 2/7and 21x + &y = 215, find the value of v,
Options:

1.¥ 21
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2. % 205
3% 20
4 % 215

Question Number : 43 Question Id : 9662316663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

qfE xjy = 37 oK 21x + 6y = 315, Ty &1 Grd 19 B4
Options:

1.9 21

2. % 205

3. % 20

4 % 215

Question Number : 44 Question Id : 9662316664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average age of a family of 5 members is 47 years. The average age of the parents is 44 vears and the
average age of the grandparents is 62 years. What is the age of the child?

Options:

1.9 11 vears
2 %® 12 years
3. ® 16 vears
4 % 18 years

Question Number : 44 Question Id : 9662316664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

5 ﬂﬂgﬁmwmfﬁaﬂﬂﬁmw o 21 AraT-ToeT & ot ey 44 o &l STeT-aTal # ST Mg 68 T 3 5y Fraw
T &

Options:

1.9 119+
Z % 129
3 % 169

4 % 13 HH

Question Number : 45 Question Id : 9662316665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& good 15 marked up by 25%, at most how mach discount can be allowed 50 a5 to neither have a gain nor a
lossy

Options:

1. % 125 percent
= ® 3333 percent
Z. % 25 percent

4. 9 20 percent

Question Number : 45 Question Id : 9662316665 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
gaﬁﬂﬁfﬁ'ﬂﬂ'ﬁ 25% FUX IR d T SAraT g, Herd sTiedr hd - G i STgATd o ST @efd [ & d10k 7 a1 o9 51 S0 7 51 Jedr

Options:

1. % 125 qifew
2 % 33330
3. ® coudeaT

4. ¥ 20 nidaT

Question Number : 46 Question Id : 9662316666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A batsman scored 120 runs in a cricket rnatch. He hit 14 fours and 4 sixes during his innings. What percent of
his runs was scored in boundaries?

Options:

1. # 50 percent

2. ¥ BE.B7 percent
3. % 70 percent

4. ® 75 percent

Question Number : 46 Question Id : 9662316666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U era o = U fohore Al H 120 ¥ a0 Jegi- SIU=T O & 2 14 2 3T 4 g 0 S e Wid o ¥ e | &7

Options:

1. % Sonfde

2 ¥ G667 nideT
3. % FoudaT

4. ¥ 75 uidaT

Question Number : 47 Question Id : 9662316667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Three candidates contested an election and received 4500, 7500 and 8000 votes respectively. wWhat
percentage of votes did the winning candidate get?

Options:

1. % 25 percent

2. % 3333 percent
3. ¥ 40 percent

4. # S0 percent

Question Number : 47 Question Id : 9662316667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 FEHIEE = U g AT A I8 wHa 4500, 7500 & 8000 e Ten i o SR # - uidad gt e

Options:
1. % oo oidad
> ® 3333 UdeT

2. ¥ 40 uidaT
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4 # opuigaT

Question Number : 48 Question Id : 9662316668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& fruit seller had sorme apples. He sold 35% apples and still has 325 apples left. How many apples did he
initially hawe?

Options:

1. % S0 percent
= % 40 percent
3. % B0 percent

4. % 75 percent

Question Number : 48 Question Id : 9662316668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Bl Teldhd T oF U T © 2 8- 35% o =) &% andt ot 325 @9 e 8 9% § 99 U fopa- | 97

Options:

1. % S0 i
2. % 40 uideT
= % g0 uideE

4 # 75 uigaT

Question Number : 49 Question Id : 9662316669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The percentage profit earned by selling an article for Rs. 1500 is equal to the percentage loss incurred by
selling the good at Rs. 900, At what price should the article be sold to make a 10% profit?

Options:

1. % Rs 1200
= % Rs 1260
3. % Rs 1280
4 ¥ Rs 1320

Question Number : 49 Question Id : 9662316669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1500 F0 H U & &1 s a2 T Widad @ 900 F0 § aeq oo gi- ool TTdad Jaerd & axay g1 10% &7 o
% 1o o 1 T grdl OR sl ST aTie?

Options:

1. % 1200 o
o % 1260 T
3 % 1250 T

4 & 1320 =03

Question Number : 50 Question Id : 9662316670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& and B together have Bs. 1200 If 2/2 of A's amount is equal to 25 of B's amount, how much does & have?

Options:
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1. ¥ Rs 360
2. % Rs. 400
3. % Rs. 420
4. % Rs. 450

Question Number : 50 Question Id : 9662316670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A T E o U AT 1200 =03 3 i A &7 o= RIid &7 23 AT E 91 =000 & 215 A0 & se) 5, 97 A % U T 70 5

Options:

1. % z60 w
2. % 400 B
3 % 420w
4, & 450 T

Question Number : 51 Question Id : 9662316671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Seats for English, Hindi and French in a school are in the ratio 8:6:5. There is a proposal to increase these seats
by 50%, 80% and 100% respectively. Find the new ratio of the seats.

Options:

1. ¥ 855

2. % BEE

3 ¥ 202725
4. % 27:30:25

Question Number : 51 Question Id : 9662316671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el e B ST, %ﬁﬁﬁa%ﬁqﬁﬁmmﬁwa 6:5 21 ST HE T & FHME S0%, S0% ¥ 100% & == HT 0EaT 5 Jet
T AT ST AT F

Options:

1. ® 555

Z ® 5ES
3.9 302725
4. ® 27:30:25

Question Number : 52 Question Id : 9662316672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ina bag, there are coins of 25 paise, 50 paise and Re 1 in the ratio of 4:2:1. In there is K5 15 in total, how
mAany S0 paise coins are there?

Options:
1. % 20

2. ¥ 10
3. % 18
4. % 3
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Question Number : 52 Question Id : 9662316672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T H 4:2:1 & arquid # 25 89, S50 U9 &fIv 1 20 o 1o 31 91 ogl ol 15 304 8, 1 S0 0 o foha g 87

Options:
1. % 20
z ¥ 10
3 % 18
4 ® 3

Question Number : 53 Question Id : 9662316673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

¥ invested an amournt of Bs. €000 in a fixed deposit for 2 years at compound interest rate of 5% p.a. How
much amount will he receive at rmaturity?

Options:

1. % Rs. 6800
2. % Rs. 8480
3. ¥ Rs 69934

4. % Rs 70206

Question Number : 53 Question Id : 9662316673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
¥ A2 T & T At ST H 8% p.a. T dkg <o &l 2% o 6000 T & a=wE e & uliagar ur 39 Rl e

Options:

1. % 6600 T
2. % G450 T
3. ¥ 5998 4 T
4, ® 70206 ¥

Question Number : 54 Question Id : 9662316674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ina flight of 1200 krn, an aircraft was slowed dowrn due to bad weather. [ts average speed for the trip was
reduced by 200 krmfh and the time of flight was increased by an hour. What was the original duration of the
flight?

Options:
1. % 1h
Z ¥ 2h
3. % 2h
4. % 4N

Question Number : 54 Question Id : 9662316674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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1. % 1937
2 ¥ o
3 ¥z
4 % 45

Question Number : 55 Question Id : 9662316675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& can do a work in 16 days and E can do the work in 24 days. If they work together for 4 days, what fraction
of worl: is left?

Options:

Question Number : 55 Question Id : 9662316675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 56 Question Id : 9662316676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& 15 thrice as good as workiman as E and takes 40 days less than E. [n how many days can they do the work by
working together?

Options:
1. % 12
2 % 20
3. ¥ 15
4 % 18

Question Number : 56 Question Id : 9662316676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 12
=z % 20
3. ¥ 15
4 % 18


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

dtab

Question Number : 57 Question Id : 9662316677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What 15 the percertage increase irl the area of a rectangle if each of its sides is increased by 2537

Options:

1. # 44 percent

2. % 50 percent

3. % SE.2C percent
4, % £9 percent

Question Number : 57 Question Id : 9662316677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o T 3 e i iR iy T ST Aty e e e i 25% Y gy Fr v &
Options:

1. % 44 gfdsT

2 % SoufdaT

3 ¥ 5625 uidaT

4 ® gouidag

Question Number : 58 Question Id : 9662316678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sphere of radius 9 cm is moulded to form a cylinder of radius 2 cm. Find the height of the cylinder.

Options:

1. % S4cm
2 % 108 cm
3 % 162 cm
4. % 216 cm

Question Number : 58 Question Id : 9662316678 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9 crm1 =T aT& U e @1 3 cm 1 e aiaT Heey a9 & T80 3131 99T 51 39 W & 3aTs J1d @

Options:
1. % 54cm

o % 108 cm
z ® 162 com
4 ® 216 cm

Question Number : 59 Question Id : 9662316679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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A,

The following pie chart shows the population of different continents. Number of people residing in Asia is
1,237,500, How many more people resides in South America compared to Australia?

Population in different Continents

Australia
10%

South America
12%p

Options:

1. % 25000
2. ¥ 5000
3. % 5000
4. % 30000

Question Number : 59 Question Id : 9662316679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Py oTE =1TE TR HETEIY AT Sl o ettt 21 T 3 Gt ane it w 1,37,500 31 sife T 6 e # gl
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faffe=r Agredal & s

Options:
1. % 25000

= % 5000
= ¥ gooo
4 % 20000

Question Number : 60 Question Id : 9662316680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A,

Correct Marks: 1 Wrong Marks: 0.25

The following histogram shows the nurmber of calls that a tourist company receives at different point of time
in a day. What is the percentage increase in the number of calls received from the starting of the day (10:00
am to 12:00 pm) to the end of the day (8:00 prm to 8:00 pro)?

B

—|

o= 20

(& 20

[

= 1B

o

"E 10 8 6

= 5

Z o
&:00 pm - 400 pm - 1200 pm - 200 pm - 10.00 am -
2.00 pm 6.00 pm 2.00 pm 400 pm 12.00 pm

Time
Options:

1. #¥ 15065 percent
2. ¥ 233 33 percent
3. % 35035 percent
4, % 192 45 percent

Question Number : 60 Question Id : 9662316680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ST T I e W1 G w1 STaT § =1 o Teiaer st Oer T H eI Tergelt ot ure wed 81 7 7 4% (10:00 arn to
12:00 pro) T § @@ 727 % 8T (6:00 prm to §:00 proy) 39 W F1 o G297 § 5 T6T AT kg 747 57

E 20
%
£

600 pm - 400 pm - 12200 pm - 200 pm - 10.00 am -
8.00 pm €.00 pm 2.00 pm 400 pm 1200 pm
Y

Options:

1. ® 15065 uidaT
2. ¥ 233 33 nidaT
3. % 35035 uidaT
4. % 192 45 nidaT

General English

Group Number : 4
Group ld: 966231127
Group Maximum Duration : 0

Group Minimum Duration : 0
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Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Ceneral English

Section Id : 966231242

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Pane: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231262
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9662316681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "No error”
option.

141 There's Mr. Sachdew, | (B) whorm they say 15 the ) (C) best painter in the city. | (D) BNo error
Options:
1.% 4
= ¥ E
3. % C
4. % D

Question Number : 61 Question Id : 9662316681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following staternent, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free frorm error, select the "MNo error”
option.

&) There's Mr. Sachdev, | (B) whorr they say 15 the/ (C) best painter in the city. [/ (O No error
Options:
1% A
= ¥ B
3. % C
4 % D
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Question Number : 62 Question Id : 9662316682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Cmne of my friend is | a successful businessman | and an honest politician. | No Error
Options:

1. ¥ Cne of my friend is

2. % a successful businessman

2. ®* and an honest politician.

4 % Mo Error

Question Number : 62 Question Id : 9662316682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentenice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

One of my friend is | a successful businessman | and an honest politician. | No Error
Options:

1. % Cne of my friend is

2. ® g successful businessmar

2. % and an honest politician.

4 % o Error

Question Number : 63 Question Id : 9662316683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Replace the words in the bracket from the set of options given.

Sarjana lived in Bombay (between) 2010 to 2015,
Options:

1. % from

= % since

3. # within

4. % in

Question Number : 63 Question Id : 9662316683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eeplace the words in the bracket from the set of options giver.

Sarjana lived in Bombay (between) 2010 to 2015,
Options:

1. ¥ from

2. % since

3. # within

4 % in
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Question Number : 64 Question Id : 9662316684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that can correctly replace the highlighted word or phrase and make the sentence
grammatically correct. Select the Mo correction required' option if the sentence is correct as it is given.

Fesham is tired a5 she (15 workdng) since six in the morning.
Options:

1. ® has worked

2 % ymas worked

3. % has been working

4. % had been working

Question Number : 64 Question Id : 9662316684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that can correctly replace the highlighted word or phrase and rmake the sentence
gramuratically correct. Select the To corraction required’ option if the sentence is correct as it is giverl,

Resharm is tired as she (s working) since six in the morning.
Options:

1. % has worked

2. % wmas worked

2. ¥ has been working

4. % had been working

Question Number : 65 Question Id : 9662316685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that correctly {and most appropriately) fills in the blank and cormpletes the sentence below.

The little boy fell ______ the horse.

Options:
1. * from

2 % off
2. % dowl

4 % ghout

Question Number : 65 Question Id : 9662316685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that correctly {and most appropriately) fills in the blank and completes the sentence below.

The little bhoy fell the horse.

Options:
1. % from
= ¥ off
3. % down

4 % gheouat
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Question Number : 66 Question Id : 9662316686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a sentence. Cut of four options given, select the most
logical order of the parts which form a coherent sentence.

The traderrark law

F :or trader an exclusive right

Q) : in the use of a mark to identify his

R : grants the manufacturer

5 : goods and distinguish them from others

Options:

1. ¥ RPOS
2. % OSPR
3. % POSE
4 % SOFR

Question Number : 66 Question Id : 9662316686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a sentence. Cut of four options given, select the most
logical order of the parts which form a coherent sentence.

The traderrark law

F :or trader an exclusive right

Q2 : in the use of a mark to identify his

R : grants the manufacturer

S . goods and distinguish thern from others

Options:

1. ¥ RPOQS
2. % QSFPR
3. % POSRE
4. % SOFR

Question Number : 67 Question Id : 9662316687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Out of the four alternatives, choose the word which best expresses the meaning of the given word.

Adjunct
Options:

1. ¥ Forgive
2 ¥ Added
3. % Soft

4. % Native

Question Number : 67 Question Id : 9662316687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
out of the four alternatives, choose the word which best expresses the meaning of the Zivern word.

Adjurnct
Options:
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1. # Forgive
2. ¥ added
3. % Soft

4. % Native

Question Number : 68 Question Id : 9662316688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ot of the four alternatives, choose the word which is OFPOSITE in ITEAnIng to the givern word.

Tirmid

Options:

1. ¢ Bold

2. % Coward
3. ® Crganize
4, % Loval

Question Number : 68 Question Id : 9662316688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
out of the four alternatives, choose the word which is OFFOSITE in IMEaning to the given word.

Tirmid

Options:

1. ¥ Eold

2. % Coward
= % COrganize
4. % Loval

Question Number : 69 Question Id : 9662316689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. # Uncauth
2. % Uncout
=, ¥ Uncouth

4. % Uncaoth

Question Number : 69 Question Id : 9662316689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly, Choose the correctly spelt word.,

Options:
1. ¥ Uncauth

= % [Incout
2. ¥ Uncouth
4 % [Incacth
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Question Number : 70 Question Id : 9662316690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which orly one word 15 spelt correctly, Chodse the correctly Spelt word.

Options:

1. ® Paraphernailea
2. % Paraphenailea
Z. # Paraphenalia
4, ¥ Paraphernalia

Question Number : 70 Question Id : 9662316690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. # Paraphernailea
2. % Paraphenailea
% % Paraphenalia

4. % Paraphernalia

Question Number : 71 Question Id : 9662316691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is spelled corractly.

Options:

1. 9 Accurate
2. % Acurate
3. ® Accurrate

4 # Acyrrate

Question Number : 71 Question Id : 9662316691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is spelled correctly.

Options:

1. % Accurate
o % Acurate
3. % Accurrate

4 ® prgrrate

Question Number : 72 Question Id : 9662316692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat does the following idiom mean?

A& blue stocking
Options:
1. ¥ A coward woman.

2. % A CUNning wormar.
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= # A smart mar.

4 % an intellectual worman.

Question Number : 72 Question Id : 9662316692 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the fOllDWiﬂg idicm mean’?

A blue stocking

Options:

1. % A coward worman.
2. % A CUNNIng worman.
= % A smart marl.

4 % An intellectual wormarn.

Question Number : 73 Question Id : 9662316693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the following 1dicorm mean’

Light vears away

Options:

1. % To be very far.

2. % To get enlightened.

% % To get very close to Someone.

4. % Light trawvels faster than sound.

Question Number : 73 Question Id : 9662316693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the following idiom mean?

Light vears away

Options:

1. % To be very far.

2. % To get enlightened.

% % To get very close to Sormeone.

4. % Light trawvels faster than sound.

Question Number : 74 Question Id : 9662316694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the alternative which is the best substitute of the
words [sentences.

One who is bad at spellings.
Options:

1. % Connoisseur

2. ¥ Cacographer

3. % Convalescent
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4 % Bohermian

Question Number : 74 Question Id : 9662316694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
wiords | sentences.

one who is bad at spellings.
Options:

1. % Connoisseur

2. ¥ Cacographer

3. % Convalescent

4 % Bohermian

Question Number : 75 Question Id : 9662316695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the alternative which is the best substitute of the
words [sentences.

A disease which attacks many people in & particular area in one tme.
Options:

1. * Estivate

= % Epilogue

3. % Chronic

4. % Epiderric

Question Number : 75 Question Id : 9662316695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of four alternatives, select the alternative which is the best substitute of the
words [sentences.

A disease which attacks many people in 4 particular area in one time.
Options:

1. % Estivate

2. # Epilogus

3. % Chronic

4. % Epideric

Sub-Section Number: 2
Sub-Section I1d: 966231263
Question Shuffling Allowed : Yes

Question Id : 9662316696 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cesticn Label | Comprehension
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Read the passage carefully and answer the given question:

In ancient Roman mythology Aurora, goddess of the dawn, renews herself every morning and flies across the
sky, announcing the arrival of the sun. She has two siblings - a brother Sol, the sun and a sister Luna, the
moon. A myth taken from the Greek Eos by Roman poets tells that one of her lovers was the prince of Troy,
Tithonus. Tithonus was a mortal, and would age and die. Wanting to be with her lover for all eternity, Aurora
asked Zeus to grant imrmortality to Tithonus, Zeus granted her wish, however Aurora had failed to ask him for
eternal vouth. As a result, Tithonus ended up ageing eternally. Aurora ended up turning her beloved into a
Erasshopper.

Sub questions

Question Number : 76 Question Id : 9662316697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what does Aurora announce every morning while flying across the sky?

Options:

1. % Arrival of the moon
2. ¥ Arrival of the sun

2. % Arrival of the evening

4 % Arrival of the storm

Question Number : 77 Question Id : 9662316698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho is the prince of Troy?

Options:

1. # 50l

= % Aurora
3. % Zeus

4. Tithonus

Question Number : 78 Question Id : 9662316699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was the myth talen from Greek Eos?

Options:

1. ¥ Tithonus was the lover of Aurcra.
2. % Aurora was the goddess of dawn.
2. % Tithonus was about to die.

4 % Aurcra was the sister of Luna.

Question Number : 79 Question Id : 9662316700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why did Aurora ask Zeus to grant wmrmortality to Tithonus?

Options:

1. ¥ Tithonus was about to die.

2 ¥ aurora could live with her lover Tithonus for eternity.
2. % Tithonus was the god of dawn.

4. % Tithonus was the prince of Rome.
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Question Number : 80 Question Id : 9662316701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whom did Aarora turn into a grasshopper?

Options:

1. % S0l

= % Luna

3. % Zeus

4. ¥ Tithonus

Question Id : 9662316696 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read the passage carefully and answer the given question:

In ancient Roman mythology Aurora, goddess of the dawn, renews herself every morning and flies across the
sky, announcing the arrival of the sun. She has two siblings - a brother Sol, the sun and a sister Luna, the
moon. & myth taken from the Greelk Eos by Roman poets tells that one of her lovers was the prince of Troy,
Tithonus. Tithonus was a mortal, and would age and die. Warnting to be with her lover for all eternity, Aurora
asked Zeus to grant immortality to Tithonus. Zeus granted her wish, however Aurora had failed to ask him for
eternal yvouth. As a result, Tithonus ended up ageing eternally. Aurora ended up turning her beloved into a
grasshopper.

Sub questions

Question Number : 76 Question Id : 9662316697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation: Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does Aurora annournce every morning while flying across the sky?

Options:

1. % Arrival of the moon
2. ¥ Arrival of the sun

3. % Arrival of the evening

4 % arrival of the storm

Question Number : 77 Question Id : 9662316698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who is the prince of Troy?

Options:

1. % 5al

= % Aurora
3. % Zeus

4. % Tithonus

Question Number : 78 Question Id : 9662316699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was the myth taken from Greek Eos?

Options:
1. % Tithonus was the lover of Aurora.

2. ® Ayrora was the goddess of dawn.


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

A GET IT ON

AddaRy7 Google Play

= # Tithonus was about to die.

4, % Ayrora was the sister of Luna.

Question Number : 79 Question Id : 9662316700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why did Aurora ask Zeus to grant imunertality to Tithonus?

Options:

1. % Tithonus was about to die.

2. ¥ Aurcra could live with her lover Tithonus for eternity.
% % Tithonus was the god of dawn.

4, % Tithonus was the prince of Rome.

Question Number : 80 Question Id : 9662316701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whorn did Aurora turn into a grasshopper?

Options:
1. ¥ 50l

= % Luna
2 ® Feys
4. ¥ Tithonus
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Sub-Section Number: 1
Sub-Section 1d: 966231264
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9662316702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg  gr Teet # € 39 Been @1 50T 1 S 30 & 297 81

Options:

1. % amEr
o ® gRE

z. ® =fag
4. v Tvg

Question Number : 81 Question Id : 9662316702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToefET ng o ov Meeat # 9, 39 ey @71 o9 &6 S 30 & a97 21

Options:

1. % smyar
2. % gRm

3. % wfaT
4. v T

Question Number : 82 Question Id : 9662316703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaEET vg §, o e § 9, 39 el Dwed 7 29§ AT We F @47 41%S 7

Options:

1. ® amiET
2 &gt
z % gom
4. % T

Question Number : 82 Question Id : 9662316703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafmET ng §, o Teent § 8, 39 51 Dwed @7 a9 @ AT Wo F J47 Aeg 7

Options:

1. % amiag
2. o FHHdT
3. % gim
4. % T

Question Number : 83 Question Id : 9662316704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeaT ng # IR [dwedt # 4, foh wore & oy Fdargar IRe fEwe @1 aa9 w4

g g T, T TSI (AT HHge e
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Options:
1. % e

2 ¥ WY
z % T

4. % T

Question Number : 83 Question Id : 9662316704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty v /. ox Teedt # 9, e v & oy Feargaw sk Heer &1 o9 340

G AR I, e ST G (ST Hgaere)

Options:
1. % apmEr

2 ¥ Wy
3 % R

4. % a7

Question Number : 84 Question Id : 9662316705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty mg & ow et § 8, 39 ey @7 =09 = 1 80 77 &g @1 7099 =1 E

S

Options:
1. % o

2 & ugm
. % gw
4 ® gug

Question Number : 84 Question Id : 9662316705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEmET g TR Twent # € 39 THeeT w1 94T 3 A1 TS0 T Seg # 9o0d &0 50

g

Options:

1. % Fa
2. ¥ wgw
z % OEw
4 % Ui

Question Number : 85 Question Id : 9662316706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TateET v ®, o Bwedt § & 39 Swew @7 =0 o S gAmmedt seg @ aet Haer 751 3

TIRT

Options:
1. % &9
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2 W T
3 % e

4 ® g

Question Number : 85 Question Id : 9662316706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg §, o Teent § |, 39 [Soe @7 4= o A7 GHERiT See o7 |1 dwed a5l 5l

AT
Options:

1. % &9
2 gy
2 ¥ meg

4 % g

Question Number : 86 Question Id : 9662316707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrgfeiaT ng | ow Owedt § 9 30 9wy 371 a9 & A1 Ta Jeg @7 qae s=aT 9@ 5

SET
Options:
1. % o
2 % gm
3 % =
4. it

Question Number : 86 Question Id : 9662316707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TofafET ng & ow et § 9, 39 ey &7 299 w51 b deg @1 999 SR [dwed 2

SA
Options:
1. % e
2 % gR
3 % o
4. =it

Question Number : 87 Question Id : 9662316708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ng §, o THeent § 8, 39 See @7 =" & S (G0 Jeg & o7 IR e g

TerT T 3T ST AR F R ______ T3 wefh

Options:

1. % zamgar
2 ® gieEl
3. ® igat
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4. ¢ gamgat

Question Number : 87 Question Id : 9662316708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v #, ow Sweat § 9, 39 Swen @1 = wt At e geg & oy 3R Bwer g

Ui S B AR F TRt W ______ T AT
Options:

1. % gamg=

2. % mElerr

3 % gidEr

4.V gamat

Question Number : 88 Question Id : 9662316709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THcRET ng H, oW fwed! § 9, 39 d51 Twed @71 a9 & 1 aeraiat & @0 UF deg &7 oded 5

STET AT T A 5N
Options:

1. % s

= ¥ g

3. % Al

4. a1

Question Number : 88 Question Id : 9662316709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT vg # or et # 4 39 987 Hwe &1 g F9 AT aeriat & A0 0w e @ Heen g

FAET AT T T &N
Options:

1. % ame

= ¥ g

3. % AR

4. % T

Question Number : 89 Question Id : 9662316710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FEmET vd |, OR Twea # €, 39 957 SweT #1999 ® A7 e Jeg, B HodTdR del fwwmed g

Options:

1. % gt

2. % T

3 o FEfarTgr
4 % FIErd
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Question Number : 89 Question Id : 9662316710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty va §, ox Bt 8 €, 39 98 [deey &7 o9+ ® 1 WEiled deg @7 Mo amgar dgt fdwed g

Options:

1. % gt

= % T

3 ¥ FETATTET
4. % FIET

Question Number : 90 Question Id : 9662316711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T ng & aw et § 9, 39 Heew @1 209 ¢ 91 931 a9 95 #7 @7 50
ST = A ST TR

Options:

1. % fipram

2 % ggm aed

3. % frEmEe T
4. ¥ §OH Jaeg

Question Number : 90 Question Id : 9662316711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T vg §, o THeent § 8, 39 e @7 =" o 1 9y 1 a1 9 &7 fdwed g

S ey f e o T B
Options:

1. % iy o

2 % Hgm awr

Z. % A= e
4 ¥ WA g

Question Number : 91 Question Id : 9662316712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T ng |, oW et § 9, 39 Tooed @7 =9 T A1 Gg1 a9 @7 d@ed 5N

F&T T Hiaa Geitad ST 07 ot =g WerTaT =51 2l
Options:

1. % Hgw aer

2. ¥ Tieg arera

3. ¥ HigdmEd aag

4 & gepadEE aed

Question Number : 91 Question Id : 9662316712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Tt ng & aw et § 9, 39 Heew @1 o0 ¢ 91 91 a9 95 #7 D@7 50
Ti&T & Fia Galed AT 0T AT I gawar T5l 8l

Options:

1. % Hg® g

=, o T ame

% % HIgdEE g
4, ¥ HFgdEE T

Question Number : 92 Question Id : 9662316713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T vg §, o Teent § 8, 39 oo o7 =70 & A1 TSR = @ gad e Swed 51

gieal gt & o §H oA =Tef T B

Options:

1. # {Sreraare ame
2. % W amEg

% % Ty aeE

4 & HgH G

Question Number : 92 Question Id : 9662316713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafeiaT ng |, ow wedt § 9 30 [Swen 371 a9 & A1 BT Jeg @7 qad =0T 9w 5

Fheat il & oK 50 oA = I &
Options:

1. % {eramad g

2. % "I gy

3. % feraEg

4. & TIH FET

Question Number : 93 Question Id : 9662316714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeRaT ve 8, o et # 9, 39 ooy 7 gom &4 7 750 70 geras @7 et orf are ey o

T ST AT FedmT
Options:

1. & Torg TigT Fe- | 21T 7T 75T 8
2. ® g

3. % ! T Agg weA

4. % Zadl BT EERT &=

Question Number : 93 Question Id : 9662316714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tty v #, ox Swedt § €, 39 Twe @7 o3 w0 A1 75y my ggTad @ gt anf anar heed g

AT g HET Fe T
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Options:

1. & g digT oo | S1fEe /T TEaT )
2. ® AT

z. ® Tl & AgE TAN

4. % gEdl BT GERT &=

Question Number : 94 Question Id : 9662316715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oty va §, ox Seedt § €, 39 Swey @ o9 = 1 oy my ggrat @1 a5t anf arer Hee g1

T FeT

Options:

1. ® vt Fme-m

o g

3 % TR g
4 % gge § Heperm

Question Number : 94 Question Id : 9662316715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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T e

Options:

1. % ot e
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Question Number : 95 Question Id : 9662316716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 95 Question Id : 9662316716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:
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Sub-Section Number: 2
Sub-Section 1d: 966231265
Question Shuffling Allowed : Yes

Question Id : 9662316717 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cestion Label | Comprehiension
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Sub questions

Question Number : 96 Question Id : 9662316718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g & JAR gg Tod g § me7

Options:

1. % St
2 % yepTar
3 % TRt @

4. ¥ TEHTE

Question Number : 97 Question Id : 9662316719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g T A it g T

Options:
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3. % U gEd
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Question Number : 98 Question Id : 9662316720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Awel & el ITar W
= W qwy

% % 7T Eg O

4, % | & O
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Question Number : 99 Question Id : 9662316721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % fawfe
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Question Number : 100 Question Id : 9662316722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T aTJeie W RIE JUgH A
Options:

1. % oz &t geledr

2. ® St St e

3 ® ST T HE

4 g W amET

Question Id : 9662316717 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Cesticn Label | Comprehension
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Sub questions

Question Number : 96 Question Id : 9662316718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3. ¥ Tpawt &
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Question Number : 97 Question Id : 9662316719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oz w1 e ofter e Fame
Options:
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3. % 0% gEgd
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Question Number : 98 Question Id : 9662316720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2 qOET
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Question Number : 99 Question Id : 9662316721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 100 Question Id : 9662316722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Disciplinel
Group Number : 6
Group Id: 966231129
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0
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Disciplinel
Section Id : 966231244
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 966231266
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9662316723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a host factor according to the agent-host-environment model?

Options:
; = Family history

5 % Age

5 # Lifestyle

4 + Climate

Question Number : 101 Question Id : 9662316723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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5 % g e

4.tﬁm

Question Number : 102 Question Id : 9662316724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Which of the following options best suits for the meaning of a profession?
Options:
, = Occupation with some practice

-  Occupation with ethical component and intellectual study

- = Occupation with large number of personnel working

4 # Occupation that promotes for higher study

Question Number : 102 Question Id : 9662316724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 103 Question Id : 9662316725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following actions show physical attending?

Adopting an open posture
Maintain good eye contact
Leaning towards the person

d. Presume an understanding of client

oo

Options:
{ % a,bandd

- % a,candd

5 « 8 bandc
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4 % b.candd

Question Number : 103 Question Id : 9662316725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 9662316726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following elements comes under secondary subjective data?

Options:
, = The nurse palpates edema in lower extremity

- u Client states severe pain while climbing

5  Spouse states the client has lost all appetite

4 # Thenurse measures weight

Question Number : 104 Question Id : 9662316726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 105 Question Id : 9662316727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The temperature of eye irrigating solution should be at what degrees (in Fahrenheit)?

Options:
; % 90—94

5 « 98— 100
5 % 120104

4 % 110

Question Number : 105 Question Id : 9662316727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HET A = F gaas F a9As &y B (Taese #) 9 g afge?

Options:

, % 90 - 94
., » 98 - 100
2 = 120 - 104

4 % 110

Question Number : 106 Question Id : 9662316728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A type of heat loss that occurs when the heat is removed by air current is known as:
Options:

1 « convection
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- % conduction
5 % radiation

4 # evaporation

Question Number : 106 Question Id : 9662316728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

|« eI
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Question Number : 107 Question Id : 9662316729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ramu has a fever with 100° F temperature. It rises to around 103° F and comes down to 100° F several times in a day in
a typical pattern. What Kind of fever is Ramu having?

Options:
, = Relapsing

- % Intermittent

= « Remittent

4 % Constant

Question Number : 107 Question Id : 9662316729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 108 Question Id : 9662316730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is pectus excavatum deformity of chest?
Options:

, « Depressed sternum and narrowing of anterior-posterior diameter

- = Protruding of sternum and an increased anterior-posterior diameter

- w Narrowing of transverse diameter and depressed sternum

4 = Ratio of anterior-posterior diameter to transverse diameteris 1 : 1

Question Number : 108 Question Id : 9662316730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 109 Question Id : 9662316731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Superficial ulceration of the skin, appearing as an abrasion and a blister is a characteristic of:
Options:

.= Stage | pressure ulcer


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

W=

5 of Stage 2 pressure ulcer

5 % Stage 3 pressure ulcer

4 Stage 4 pressure ulcer

Question Number : 109 Question Id : 9662316731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 110 Question Id : 9662316732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT an example of drv heat application?

Options:
1 % Sunbath

> w Hot-water bag

%z % Radiant warmer

4 « Hot packs

Question Number : 110 Question Id : 9662316732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Frafafea 7 @ Flaa e 7370 F HGIIET F 3207 FRl g2

Options:
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Question Number : 111 Question Id : 9662316733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the mnemonic used for first aid of sprains?

Options:
1 « RICE

> % PRICE
- % ROSE

4 % PUSH

Question Number : 111 Question Id : 9662316733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
= fr wrufas Rea ¥ B wiw & FEEE #1399 B e 7
Options:

| » TSH (RICE)
. » 9SH (PRICE)
. % Ul (ROSE)

4 9T (PUSH)

Question Number : 112 Question Id : 9662316734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the meaning of PRN in medication administration?
Options:

, = Every morning
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> » Immediately

= « When required

4 # Alternate days

Question Number : 112 Question Id : 9662316734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 113 Question Id : 9662316735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following nursing intervention is NOT appropriate when an IV infusion infiltrates?
Options:

; = Immediately stopping the infusion

- = Elevating the site

s w Applying warm, moist compress

4  Massaging or rubbing the site

Question Number : 113 Question Id : 9662316735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 114 Question Id : 9662316736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify an essential amino acid from the following.

Options:
1 « Valine

» u Glycine

3 # Serine

4 % Proline

Question Number : 114 Question Id : 9662316736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3 % WO

Question Number : 115 Question Id : 9662316737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bitot’s spots is a deficiency of:
Options:

1 « Vitamin A
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5 % Vitamin Bg

=z % Vitamin D

4 % Vitamin K

Question Number : 115 Question Id : 9662316737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 116 Question Id : 9662316738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify an enzyme that is useful for digestion of fat?
Options:

L o Lipase

- w Lysine

5 # Pepsin

4 = Amylase

Question Number : 116 Question Id : 9662316738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 117 Question 1d : 9662316739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The heteropolysaccharide that acts as a lubricant and shock absorber in joints is:

Options:
1 % Cellulose

-~ » Heparin

- « Hyaluronic acid

4 = Glycogen

Question Number : 117 Question Id : 9662316739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 9662316740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Keratin, the simple protein, is present in:

Options:
1 # gves
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Question Number : 118 Question Id : 9662316740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 119 Question 1d : 9662316741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The purine base found in RNA and DNA is:

Options:
1 « Adenine

> % Uracil

5 % Ihymine

4 s Myoglobin

Question Number : 119 Question Id : 9662316741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 9662316742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the correct statement with reference to Learning by Insight?
Options:

¢ Learning occurs by trial and error or by direct experiences.

L .

>  Problem solving happens suddenly by understanding relationship between the parts of a problem.

- = Simplest learned activities are conditioned responses.

4 » Learning of active, voluntary behaviours are shaped by their consequence.

Question Number : 120 Question Id : 9662316742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
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Disciplinez
Section Id : 966231245
Section Number : 1
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Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
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Question Number : 121 Question Id : 9662316743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

X Is facing the problem and he attempts to find a single, correct answer to the problem.
Identify the type of thinking.

Options:

; = Creative thinking

> u Divergent thinking

5  Convergent thinking

4, w Critical thinking

Question Number : 121 Question Id : 9662316743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 122 Question Id : 9662316744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which part of the uterine tube does the fertilisation process occur?

Options:
1 % Isthmus

o  Ampulla

- w Intramural part

4 % Infundibulum

Question Number : 122 Question Id : 9662316744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 123 Question 1d : 9662316745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The brownish black pigmented area in the midline stretching from xiphisternum to symphysis pubis during pregnancy is
called:

Options:

, w chloasma gravidarum
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5 o linea nigra

- % striae gravidarum

4 % striae albicans

Question Number : 123 Question 1d : 9662316745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 124 Question Id : 9662316746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Which stage of labour starts from full dilatation of the cervix and ends with expulsion of the fetus from birth canal?
Options:

1 ® First stage

-  Second stage

5 % [Ihird stage

4, = Fourth stage

Question Number : 124 Question Id : 9662316746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SHE & i | =0T T AaT & GO B § % @i § AR oA Al § Ho1 & Fvwrws & Ay
HATT BT 87

Options:
1 = IgE“ = {UI


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

W=

E_J{\C!T?ITUT
5w OMEY =ROT

4 ® =TT =IO

Question Number : 125 Question Id : 9662316747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The phase of ejection of milk is called:
Options:

, = Galactopoiesis

5 % Mammogenesis
- % Lactogenesis

4 « Galactokinesis

Question Number : 125 Question Id : 9662316747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 9662316748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is placenta accreta?

Options:

; = Itisthe condition in which the placenta is attached to lower uterine segment.
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- w It is the condition in which the placenta is anchored to endometrium.

- % Itisthe condition in which the placenta is attached to upper uterine segment.

4 « 1t is the condition in which the placenta is anchored to myometrium.

Question Number : 126 Question Id : 9662316748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 127 Question Id : 9662316749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The severe type of vomiting during pregnancy which has deleterious effect on mother’s health is called:
Options:

; = morning sickness

5 ® emesis gravidarum

- » Chorea gravidarum

4  hyperemesis gravidarum

Question Number : 127 Question Id : 9662316749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question Id : 9662316750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following signs, if noted, would be an early sign of excessive blood loss in a mother in immediate
postpartum period?

Options:

| « Anincrease in the pulse rate from 88 to 102 beats/min

-~ % Blood pressure changes from 130/88 to 124/80 mmHg

2 #® A temperature of 100.4°F

4 # Anincrease in the respiratory rate from 18 to 22 breaths/min

Question Number : 128 Question Id : 9662316750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question Id : 9662316751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Which of the following noted on the assessment of a pregnant mother receiving magnesium sulfate for the management
of preeclampsia, determines that the client is experiencing toxicity?

Options:
1 #% Proteinuria of 3+

5 o Respirations of 10 breaths/min

5 = Serum magnesium level of 6 mEq/L

4 = Presence of deep tendon reflexes

Question Number : 129 Question Id : 9662316751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 130 Question Id : 9662316752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How much amount of blood transfers from placenta to the baby after delivery when the cord clamping is delayed till the
cessation of cord pulsations?

Options:
1 #% 10—30ml
> % 40—60 ml

3 80— 100 ml

4 % 120— 150 ml

Question Number : 130 Question Id : 9662316752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 10 - 30 ml

5 % 40 - 60 ml

- v 80 - 100 ml

4 % 120 - 150 ml

Question Number : 131 Question Id : 9662316753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which assessment should be done after an amniotomy has been performed to a pregnant mother?

Options:
1 % Cervical dilation

~ % Bladder distention

5 = Maternal blood pressure

4 « Fetal heart rate pattern

Question Number : 131 Question Id : 9662316753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 132 Question 1d : 9662316754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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In which type of placental abnormality there is one or more lobes of placenta placed at varying distance from main
placental margin?

Options:
, = Circumvallate placenta

> #% Placenta membranacea
= « Placenta succenturiata

4 = Placenta maginata

Question Number : 132 Question Id : 9662316754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question Id : 9662316755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who developed the Theory of Psychosexual Development?

Options:
1 % Erik H. Erikson
» # Jean Piaget

5 « Sigmund Freud

4 = Lawrence Kohlberg

Question Number : 133 Question 1d : 9662316755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id : 9662316756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which condition is the Kramer’s rle used as clinical assessment method in neonates?
Options:

; = Neonatal Hypothermia

- « Neonatal Hyperbilirubinemia

= % Neonatal Convulsions

4 = Neonatal Hypoglycemia

Question Number : 134 Question Id : 9662316756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option: No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 135 Question 1d : 9662316757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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The slight, downy distribution of fine hair over neonate’s body is termed as:

Options:
1 % Milia

- % Vernix caseosa

5 w Erythema

4 o Lanugo

Question Number : 135 Question Id ;: 9662316757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question Id : 9662316758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which one of the following is a complication of Neonatal Hyperbilirubinemia?
Options:

1 « Kernicterus

-~ # Hepatitis

= % Icterus

4 ® Down'’s syndrome

Question Number : 136 Question Id : 9662316758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 9662316759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Oxygen toxicity in pre-term babies causes:

Options:
; = Neonatal hypoglycemia

- u Respiratory distress syndrome

5 o Retrolental fibroplasia

4, = Neonatal sepsis

Question Number : 137 Question Id : 9662316759 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 138 Question Id : 9662316760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Epispadias means:
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Options:

, = Abnormal urethra opening on the ventral opening of penis

- % Abnormal urethral opening at the tip of the penis

-  Abnormal urethra opening on the dorsal opening of penis

4 = Abnormal urethral opening at the scrotal sac

Question Number : 138 Question Id : 9662316760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 139 Question Id : 9662316761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The congenital heart disease in which radiographic findings depict boot-shaped heart is called:

Options:
, « Tetrology of Fallot

- % Patent Ductus Arteriosus
= % Coarctation of Aorta

4 u Atrial Septal Defect

Question Number : 139 Question Id : 9662316761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 140 Question Id : 9662316762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which condition occurs due to the congenital absence of parasympathetic ganglionic nerve cells in the colon?

Options:
1 % Volvulus

- « Hirschsprung’s disease

= % Intestinal obstruction

4 % Meconium ileus

Question Number : 140 Question Id : 9662316762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Group Id: 966231131
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Discipline=
Section Id : 966231246
Section Number : 1
Section type: Online
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Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pane: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 966231268
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9662316763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

Which nursing care is to be provided pre-operatively to a baby born with exstrophy of bladder?
Options:

, » Immerse the baby in water while bathing

-  Cover the bladder with sterile petroleum gauze

- u Place the baby in the prone position

4 = Keep the bladder mucosa dry

Question Number : 141 Question Id : 9662316763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question 1d : 9662316764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among the following is NOT a major manifestation of rheumatic fever?

Options:
1 % Carditis

> % Chorea
-  Arthralgia

4 % Subcutaneous nodules

Question Number : 142 Question Id : 9662316764 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question Id : 9662316765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which diagnostic test determines the presence of Hodgkin’s lymphoma?

Options:
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, « Presence of Reed-Sternberg cell in lymph node

- u Presence of malignant cells in CSF

- # Presence of lymphoblasts in the bone marrow

4, = Presence of Philadelphia chromosome

Question Number : 143 Question Id : 9662316765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 144 Question Id : 9662316766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which finding is noted on assessing a child with scabies?

Options:
, « Gray threadlike lines

> % Discrete red macules

z % Pink-red macules

4 = Purple-coloured lines

Question Number : 144 Question 1d : 9662316766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question Id : 9662316767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which vaccine is NOT administered to an HIV-positive child?

Options:
| « OPV

- u Hepatitis B

o ® MME

4 % DPT

Question Number : 145 Question Id : 9662316767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question Id : 9662316768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who described *ABO" Blood grouping?

Options:
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1 « Karl Landsteiner
- % David Baltimore
% % Sir Ronald Ross

4 % Robert Koch

Question Number : 146 Question Id : 9662316768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question Id : 9662316769 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the only immunoglobulin transported through placenta to fetus?

Options:
IEM

Question Number : 147 Question Id : 9662316769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 148 Question Id : 9662316770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the correct position to be maintained for patient who shows signs of shock?
Options:

, = Reverse Trendelenburg

-~ u Lithotomy

- % Supine

4  Modified Trendelenburg

Question Number : 148 Question Id : 9662316770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question Id : 9662316771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A nurse is caring for patient on diuretic therapy. The nurse would monitor the patient for which acid base disorder?

Options:
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1 « Metabolic Alkalosis

> u Respiratory Alkalosis

5 = Respiratory Acidosis

4 % Metabolic Acidosis

Question Number : 149 Question Id : 9662316771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TIedE RfFcar | v W0 T uae e 70 = @ ¢l A9 e RE 3w fEr F v et &
FerET HE?

Options:

| HeTEIF Hohallad

> % IS HewellHa
- % JES viEsifEw

g #® mm

Question Number : 150 Question Id : 9662316772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A patient is in stage of dving and says that 'T just want to see my grand children’s birth, then I am ready'. Identify the
stage of dying.
Options:
| ® Acceptance

5 % Anger

5  Bargaining

4 = Depression

Question Number : 150 Question Id : 9662316772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 151 Question Id : 9662316773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

What is the advantage of venturi mask?
Options:
| % High concentration O, is delivered accurately

- u Provides moderate-to high-density aerosols

5 « Delivers precise and high flow rates of oxygen

4% 02 is delivered quickly for short periods

Question Number : 151 Question Id : 9662316773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

T ATEF F HIUST FT 7

Options:

| » 3= Hiewdh O, GgraoT ¥ Gaeamar g

. » FEUH ¥ 359 OAcF I WA Y& FIAT 8
o » e & 58 AR 359 waE & & &

, x O O A F T Sl @ I S &

Question Number : 152 Question 1d : 9662316774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

Anasarca is a feature of:
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Options:
; w» Pulmonary hypertension

5 o Right-sided heart failure

%z % Left-sided heart failure

4 = Cor pulmonale

Question Number : 152 Question Id : 9662316774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question 1d : 9662316775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the common pathophysiological mechanism of acute pancreatitis?

Options:
, = Overproduction of enzymes

-~ # Malabsorption of enzymes

5 « Auto digestion of pancreas

4 = Formation of Neo [ -Pancreatic cells

Question Number : 153 Question 1d : 9662316775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 154 Question Id : 9662316776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Lhermitte’s” sign is observed in:
Options:

, « Multiple sclerosis

- % Systemic lupus erythematosus

= # Myasthenia gravis

4 % Guillain-Barre Syndrome

Question Number : 154 Question Id : 9662316776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question Id : 9662316777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify an early symptom of spinal cord tumor from the options.

Options:
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, = Impaired sensation of temperature, touch, pain

-  Pain worsens with activity, straining and lying down
- % Position changes leading to complete anesthesia

4 = Clumsiness, weakness, spasticity

Question Number : 155 Question Id : 9662316777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id ; 9662316778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A nurse assisted in endotracheal intubation. The doctor advised to maintain cuff pressure between 20-25 mm Hg.
What is the complication of low cuff pressure?

Options:
; = Tracheal bleeding

- % Ischemia
= # Pressure necrosis

4 « Risk for aspiration pneumonia

Question Number : 156 Question Id : 9662316778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 9662316779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the correct statement with regard to Post Necrotic Cirrhosis?
Options:

1 % It is associated with alcohol abuse

- « It is the result of complication of viral, toxic hepatitis

- = It is associated with chronic biliary obstruction

4 w Itresults from Cor pulmonale. pericarditis

Question Number : 157 Question Id : 9662316779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 158 Question Id ;: 9662316780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25
Who introduced the term *cultural lag’?

Options:

, v Williams F. Ogburn

» % C.H.Cooley

z % Durkheim

4 % G.R.Madan

Question Number : 158 Question Id : 9662316780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 9662316781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the demerit of caste system from the options given.
Options:

1 % Provides fixed social environment

-~ % Provides a profession and solves unemployment issues
=  Introduces inherited inequality in society

4 # Improves spirit of cooperation among members

Question Number : 159 Question Id : 9662316781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question Id ;: 9662316782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When a person changes from one position to another position of equal status. it is called:

Options:
, « Horizontal mobility

» % Upward social mobility

- » Downward social mobility

4 # Vertical mobility

Question Number : 160 Question Id : 9662316782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 161 Question Id : 9662316783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sudden outbreak of any disease in a community than the expected normal cases of previous year is called:

Options:
1 % Endemic

5 o Epidemic
z % Pandemic

4 = Sporadic

Question Number : 161 Question Id : 9662316783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question Id : 9662316784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following vaccines is contra-indicated in symptomatic HIV infection whose CD4 count is less than 400
cells/mm??

Options:
, « BCG

~ #% DPT
= % Tetanus toxoid

4 % Yellow fever

Question Number : 162 Question Id : 9662316784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question 1d : 9662316785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following intervention focuses on giving chemoprophylaxis for cholera?

Options:
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| « Specific protection

- u Health promotion

- # Early intervention

4 % Prevention of disease

Question Number : 163 Question Id : 9662316785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question Id ;: 9662316786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The number of deaths due te a particular cause per 100/1000 fotal deaths is known as:

Options:
, w Case fatality rate

-~ % Age-specific death rate

=  Proportional mortality rate

4 % Crude death rate

Question Number : 164 Question 1d : 9662316786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 9662316787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The contimous scrutiny for the factors that cause occurrence & distribution of disease in known as:

Options:
1 Monitoring

- % Eradication

3 o Survelllance

4 ® Screening

Question Number : 165 Question Id : 9662316787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 9662316788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 9662316788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following diseases is capable of infecting others before its onset of illness?

Options:
LW Mumps

- = Iyphoid
-z % Malaria

4 % Tuberculosis

Question Number : 167 Question Id : 9662316789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a way to acquire passive immunity?
Options:

; » Exposure fo disease

-  Antibody transfusion

%z % Vaccination

4 = Exposure to subclinical infection

Question Number : 167 Question Id : 9662316789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 168 Question Id : 9662316790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which committee is also known as “Committee on Integration of Health Services™?

Options:

; = Kartar Singh Committee

- % Chadah Committee

s  Jungalwalla Committee

4 = Mukerji Committee

Question Number : 168 Question 1d : 9662316790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question Id : 9662316791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which vear was RINTCP launched?

Options:
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1 & 1997
> % 2000
5 % 2002

4 % 2006

Question Number : 169 Question Id : 9662316791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 170 Question Id ;: 9662316792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The induration of skin between 6 and 9 mm after tuberculin test indicates:
Options:

, = Tuberculosis positive

- « Doubtful for tuberculosis

- » Contact with active tuberculosis patients

4 % No risk for tuberculosis

Question Number : 170 Question Id : 9662316792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question Id : 9662316793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Early diagnosis and prompt treatment is encouraged at which level of prevention?
Options:

1 % Primordial

o  Secondary

5 w lertiary

4 # Primary

Question Number : 171 Question Id : 9662316793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 9662316794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Hardness of water can be removed by which of the following chemical reagents?
Options:

; = Sulphate Dioxide
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> « Sodium Carbonate

5 % Magnesium carbonate

4 = Copper Sulphate

Question Number : 172 Question 1d : 9662316794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question Id : 9662316795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Oral contraceptive pill contains:
Options:

, « both progesterone and estrogen

- u only estrogen

- » ounly progesterone

4 % corticosteroids

Question Number : 173 Question Id : 9662316795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 174 Question Id : 9662316796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Peasoup’ diarrhoea is a feature of:

Options:
1 % Rota virus diarrohea

-  Iyphoid
z % Cholera

4 % Gastritis

Question Number : 174 Question Id : 9662316796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 9662316797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the term coined for circumscribed fear of a discrete object or situation?
Options:

; = Agoraphobia
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-~ u Claustrophobia

=  Specific phobia

4 % Allurophobia

Question Number : 175 Question Id : 9662316797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 9662316798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following tools is commonly used to test a person’s intellectual function?

Options:
1 « Wechsler scale

- % CAGE scale
= % Child behavioural checklist

4 % Rorschach ink blot test

Question Number : 176 Question Id : 9662316798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question Id : 9662316799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When a client says “I can’t focus, my mind keeps wandering” then the nurse replies saying “vou
are having difficulty concentrating?”. This is the example of which communication technique?

Options:
1 ® SI‘Jill_mal‘iSiﬂg

- « Paraphrasing

- = Confronting

4 % Focusing

Question Number : 177 Question Id : 9662316799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 9662316800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the main action expected of tricyclic antidepressants?

Options:
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, « Blocking the receptors of norepinephrine

- u Blocking dopamine receptors

- # Blocking GABA receptors

, = Blocking presynaptic receptors of catecholamine

Question Number : 178 Question Id : 9662316800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question Id : 9662316801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The client is no longer interested in going out and meeting friends. This is an example of which behaviour?

Options:
1 « Avolition

> u Affective flattening

5 = Alogia

4 #% Perseveration

Question Number : 179 Question Id : 9662316801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 180 Question Id : 9662316802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following would be a priority nursing intervention for a patient who has suicidal behaviour?
Options:

; = Avoid bringing up the subject of suicide

> w Actively involve patient in the unit activities

- = Explain consequences of suicidal attempts

4  Askthe patient whether he/she has a thought of or has plan of committing suicide

Question Number : 180 Question Id : 9662316802 Question Type: MCQ. Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 181 Question Id : 9662316803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which type of delusional disorder is commonly found in paranoid schizophrenia?

Options:
, = Delusion of grandeur

-  Delusion of persecution

5 w Delusion of guilt

4 % Nihilistic delusion

Question Number : 181 Question Id : 9662316803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 9662316804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the term used to explain the condition in which a patient perceives that his/her face is

distorted and his/her legs have become short?
Options:
1 % Hallucination

- % Illusion

5 o Depersonalisation

4 % Denationalisation

Question Number : 182 Question Id : 9662316804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 183 Question 1d : 9662316805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Korsakofi’s psychosis associated with chronic alcoholism is caused by the deficiency of:
Options:

1 « Thiamine
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- % Riboflavin
=z % Biotin

4 % Niacin

Question Number : 183 Question Id : 9662316805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 9662316806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the term used to describe a feeding disorder characterised by eating non-nutritious
substances such as soil, paint ete.?

Options:
, » Binge eating

- % Anorexia nervosa
3 o Pica

4 % Bulimia nervosa

Question Number : 184 Question Id : 9662316806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 185 Question Id : 9662316807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is “sun drowning™?
Options:

|« Worsening of symptoms and confusion in the evening

-~ % Unconscious filling of memory gaps

- u Stereotyped behaviour and activities

4 % Incontinence during night

Question Number : 185 Question Id ;: 9662316807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 186 Question 1d : 9662316808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following options describes transient situational disturbances?
Options:

, « Disturbed feelings and behaviour occurring due to overwhelming external stimuli
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-~ u Acute condition resulting from withdrawal of alcohol

- % Clinical syndrome of akinesis & mutism

4 % Abnormality of any function that is under voluntary control

Question Number : 186 Question Id : 9662316808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 9662316809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A psychiatric patient is discharged by the concerned medical officer after their relatives furnish a bond along with an
undertaking that the mentally ill person shall be prevented from causing mjury to self or others. The patient got
discharged under which type of discharge?

Options:

, = Vvoluntary basis

5 o Under special circumstances

- = Onreception order

4 ® Admitted by police

Question Number : 187 Question Id : 9662316809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question Id : 9662316810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is flight of ideas?

Options:
1 % Absence or near absence of ideas

5 o Constant shifting from one idea to another

z % Disturbance in ideas

4 = Unfocused fear attached to any idea

Question Number : 188 Question Id : 9662316810 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id : 9662316811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Avocational guidance is given to the individual with the purpose to:
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Options:
; = solve all personal problems

5 o spend lelsure time activities

- = guide for selection of vocation

4 % develop leadership abilities

Question Number : 189 Question Id : 9662316811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id : 9662316812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A technique that focuses on real-life situation to allow nursing students to practice is called:

Options:
1 % Seminar

> o Simulation
z % Self-instructional module

4 = Problem-based learning

Question Number : 190 Question Id : 9662316812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 9662316813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The approach of nursing process of giving nursing care can be regarded as:

Options:
1 % Institutional curriculum

- % Instructional curriculum
% % Societal curriculum

4 + Core curriculum

Question Number : 191 Question Id : 9662316813 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id : 9662316814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The continuous and ongoing evaluation of the nursing student is known as:

Options:
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1 % Summative evaluation
~ % Criterion evaluation
5 « Formative evaluation

4 % Norm referenced evaluation

Question Number : 192 Question Id : 9662316814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id : 9662316815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The budget that projects about future sales is:

Options:
; = Flexible budget

5 o Revenue budget

5 w variable budget

4 = Profit budget

Question Number : 193 Question Id : 9662316815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 194 Question Id : 9662316816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An employee receives orders from only one supervisor. This is known as:

Options:
, = Spanof control

- % Scalar chain

=  Unity of command

4 = Hierarchy chain

Question Number : 194 Question Id : 9662316816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 9662316817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The audit that is conducted between the two regular audits is:

Options:
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1 % Internal audit
- % Continuous audit
3 o Interim audit

4 % Final audit

Question Number : 195 Question Id : 9662316817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 196 Question Id : 9662316818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The leadership style in which each member acts according to his/her choice with leader having wvery little role to play
is:

Options:
1 % Democratic

~ « Lalssez faire
= % Autocratic

4 % Formal

Question Number : 196 Question Id : 9662316818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 197 Question Id : 9662316819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The technique in which a sample is selected based on certain sample characteristics is known as:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

, Purposive sampling

- Judgmental sampling

5 Convenient sampling

4 Snow ball sampling

Question Number : 197 Question Id : 9662316819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

. EeRT gfo=aa
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4 EEETe gia=aa

Question Number : 198 Question Id : 9662316820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25

The research that is done to learn about cultural behaviour and cultural artifacts is called:
Options:

, % Grounded theory research

-  Ethnography research

- » Phenomenology research

4 % Historical research

Question Number : 198 Question Id : 9662316820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question Id : 9662316821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The statement that describes researcher’s expectations about relationship of two variables under study is known as:
Options:

; = Assumption

- u Significance test

5 # lestability

4  Hypothesis

Question Number : 199 Question Id : 9662316821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25


https://www.adda247.com/?srsltid=AfmBOor-AwSwfx4DKpITSMBmvlUtFUzE-xzbXgcfF9madx829S9klhOd
https://play.google.com/store/apps/details?_gl=1*1eizu0t*_gcl_au*MTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adtab

T TET & TR F TEY F IFTEUTIR H I F HTIR IO F T HUA F FES
2l

Options:

Question Number : 200 Question Id : 9662316822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the central tendency calculation , the most frequently occurring value is considered as:

Options:
1 « Mode

> % Median

5 % Range

4 #® DMean

Question Number : 200 Question Id : 9662316822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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